MORPION
Prog 8 :

"MORPION"@




Int FCARSPECIAUX 174 \f "Symbol"F


Mcl






F>3CARSPECIAUX 222 \f "Symbol"Goto 3


Cls






F<0CARSPECIAUX 222 \f "Symbol"Goto 3


Range 1,4,1,1,4,1




F=0CARSPECIAUX 222 \f "Symbol"Goto 4


Plot 1,1





A=ECARSPECIAUX 222 \f "Symbol"B=FCARSPECIAUX 222 \f "Symbol"Goto 3


Plot 4,1:Line





Plot 0.3+E,0.7+F


Plot 4,2:Line





Plot 0.7+E,0.7+F:Line


Plot 1,2:Line





Plot 0.7+E,0.3+F:Line


Plot 1,3:Line





Plot 0.3+E,0.3+F:Line


Plot 4,3:Line





Plot 0.3+E,0.7+F:Line@

Plot 4,4:Line





Goto 1


Plot 1,4:Line





Lbl 4


Plot 1,1:Line





Cls


Plot 2,1:Line





Range -4.7,4.7,1,-3.1,3.1,1


Plot 2,4:Line





Mcl


Plot 3,4:Line


Plot 3,1:Line


Plot 4,1:Line


Plot 4,4:Line@

Lbl 1


"JOUEUR 1:"


"COLONNE"?CARSPECIAUX 174 \f "Symbol"A


Int ACARSPECIAUX 174 \f "Symbol"A


A>3CARSPECIAUX 222 \f "Symbol"Goto 1


A<0CARSPECIAUX 222 \f "Symbol"Goto 1


A=0CARSPECIAUX 222 \f "Symbol"Goto 4


"LIGNE"?CARSPECIAUX 174 \f "Symbol"B


Int BCARSPECIAUX 174 \f "Symbol"B


B>3CARSPECIAUX 222 \f "Symbol"Goto 1


B<0CARSPECIAUX 222 \f "Symbol"Goto 1


B=0CARSPECIAUX 222 \f "Symbol"Goto 4


A=ECARSPECIAUX 222 \f "Symbol"B=FCARSPECIAUX 222 \f "Symbol"Goto 1


1.8CARSPECIAUX 174 \f "Symbol"C


1.2CARSPECIAUX 174 \f "Symbol"D


Plot 0.2+A,0.8+B


Plot 0.8+A,0.2+B:Line


Plot 0.2+A,0.2+B:Line


Plot 0.8+A,0.8+B:Line@

"JOUEUR 2:"


Lbl 3


"COLONNE"?CARSPECIAUX 174 \f "Symbol"E


Int ECARSPECIAUX 174 \f "Symbol"E


E>3CARSPECIAUX 222 \f "Symbol"Goto 3


E<0CARSPECIAUX 222 \f "Symbol"Goto 3


E=0CARSPECIAUX 222 \f "Symbol"Goto 4


"LIGNE"?CARSPECIAUX 174 \f "Symbol"F



(CARSPECIAUX 196 \f "Wingdings")

